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Question 1

Question Type: MultipleChoice

Your client has the following requirements:

Many customers are installing their own solar electrical generation equipment. When these customers generate more electricity than
required for their own use, the surplus can he exported back to the power grid.

In order to measure this generation, we have installed special scalar devices. These devices have separate registers to measure the
energy generated (export) and the energy received (import) from the National Grid. Both reads will be stored in kWh, but the import is
subtractive and export is consumptive.

What solution should you choose to configure the measuring component types for these specific requirements?

Options:

A- Create two service points: one for subtractive import and the other for consumptive export.

B- Create one new measuring component type for creating two measuring components (one for import and the other for export) that will
be linked to one scalar device.

C- Create one new measuring component type for creating a new measuring component that will be linked to two different scalar
devices (one for import and the other for export).

D- Create two new measuring component types (one for subtractive import and the other for consumptive export) to enable the creation
of two measuring components that will be linked to one scalar device.



Answer:

D

Question 2

Question Type: MultipleChoice

Your client has installed scalar devices to measure the solar energy generated (Export) and the energy received (Import) from the
National Grid. This data is stored in separate measuring components (registers).

The validation rules are generally the same for both measuring components, but there is one exception. The Negative Consumption
check applies only to energy received (import).

Which two are possible configurations resulting in the Negative Consumption rule being checked for energy received (import) only?
(Choose two.)

Options:

A- Modify the base VEE rule.

B- Remove the Negative Consumption check from the VEE group.



C- Create two different VEE groups.
D- Use Eligibility Criteria.
E- Use the Skip Flag in the VEE rule.

Answer:

C,D

Question 3

Question Type: MultipleChoice

Using a base-supplied algorithm type, what is payment distribution priority typically determined by?

Options:

A- Customer Class and Service Agreement Type
B- Payment Type + Debt Age
C- Debt Age

D- Service Agreement Type's Priority and Debt Age



E- Customer Class and Debt Age

Answer:

Question 4

Question Type: MultipleChoice

You are configuring a VEE group to include rules to be executed when loading the initial measurement data (IMD).

What is the VEE group directly associated with?

Options:

A- Device Type and Measuring Component Type
B- Measuring Component Type
C- Device Type

D- Usage Type



E- Device Configuration Type

Answer:

Question 5

Question Type: MultipleChoice

What happens when a device's measuring components are reconfigured (a new measuring component will be read) at a service point?

Options:

A- A device with a new configuration type is created.
B- The original installation event is updated with the "removal” (expire old device configuration).
C- A device with a new configuration type is created. Moreover, a new installation event is created to 'install" (new device configuration).

D- The original installation event is updated with the "removal” (expire old device configuration) and a new installation event is created to
"install" (new device configuration).

E- A new installation event is created to "install" (new device configuration).



Answer:

Question 6

Question Type: MultipleChoice

Which describes derived values and their relationship with Final Measurements?

Options:

A- Final Measurements can have multiple derived values, which represent other values for the same Final Measurement Date/Time.

B- Derived values can have multiple Final Measurements, which represent other values for the same Initial
Measurement Date/Time.

C- Final Measurements can have one derived value, which represents an alternative for the same Final
Measurement Date/Time.

D- Final Measurements can have one derived value, which represents the Initial Measurement for the same
Final Measurement Date/Time.

Answer:




Question 7

Question Type: MultipleChoice

The base package usage transaction business object is represented by D2-UsageTransaction. The usage calculation engine or process
drives the specifics of the usage to be calculated on this business object.

Based on this, which three configuration areas will have an impact on the usage calculation process? (Choose three.)

Options:

A- VEE rule
B- TOU map
C- Usage Rule

D- Factor Override

Answer:

B,C,D
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